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(Only for Fresh/Re-appear Candidates) 

•••• Ñi;k tk¡p dj ysa fd HkkxHkkxHkkxHkkx–II ds bl iz'u-i= esa eqfnzr i`"B 8 rFkk iz'u 40 gSaA 

 Please make sure that the printed pages in this question paper of Part-II are 8 in 

number and it contains 40 questions. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 

 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA 

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

General Instructions : 

    (i)    lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    

        All questions are compulsory.    
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    (ii) iz'u Øekad 1 ls 40 rd oLrqfu"B ¼cgqfodYih;/fjDr LFkku dh iwfrZ/lgh-xyr½ iz'u gSaA izR;sd 
iz'u 1 vad dk gSA lgh lgh lgh lgh mÙkj viuh mÙkj&iqfLrdk eas fyf[k,A 

        Questions from 1 to 40 are objective (Multiple choice/fill in the blanks/true-

false) type questions. Each question is of 1 mark. Write correct answer in 

your answer-book. 

fuEufyf[kr cgqfodYih; iz'uksa ds lghlghlghlgh fodYi pqfu;s % 
Choose the correct alternatives of the following multiple choice type questions : 

1. fuEufyf[kr esa ls dkSu&lk pj O;f"V vFkZ'kkL= dk mnkgj.k gS \ 1 

(A) jk"Vªh; vk; (B) QeZ dk mRiknu 

(C) dher Lrj (D) buesa ls dksbZ ugha 

Which of the following is an example of micro-economic variable ? 

(A) National income (B) Firm's production 

(C) Price level (D) None of these 

2. dkj rFkk isVªksy dh ek¡x dgykrh gS % 1 

(A) iwjd  (B) LFkkukiUu 

(C) bdkbZ  (D) 'kwU; 

Demand of car and petrol is called : 

(A) Complementary (B) Substitution 

(C) Unit  (D) Zero 

3. tc ek¡x esa izfr'kr ifjorZu dher esa izfr'kr ifjorZu ls vf/kd gksrk gS] rks ek¡x % 1 

(A) csykspnkj gksxh (B) ykspnkj gksxh 

(C) iw.kZr;k csykspnkj gksxh (D) bdkbZ ykspnkj gksxh 

When percentage change in demand is more than percentage change in price, 

demand is : 

(A) inelastic (B) elastic 

(C) perfectly inelastic (D) unitary elastic 
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4. rVLFkrk oØ ewy fcUnq dh vksj gksrk gS % 1 
(A) urksnj  (B) lh/kh js[kk 
(C) mUurksnj (D) buesa ls dksbZ ugha 
Indifference curve is to the origin : 

(A) Concave (B) Straight line 

(C) Convex (D) None of these 

5. tc lhekUr mRiknu 'kwU; gksrk gS] rks dqy mRiknu gksxk % 1 
(A) 'kwU;  (B) _.kkRed 
(C) /kukRed (D) vf/kdre 
When marginal production is zero, then total production will be : 

(A) Zero  (B) Negative 

(C) Positive (D) Maximum 

6. lgh lehdj.k pqfu, % 1 

(A) 
Q

AR
TR =  (B) 

Q

MR
AR =  

(C) 
Q

TR
MR

∆

∆
=  (D) QTRAR ×=  

Choose the right/correct equation : 

(A) 
Q

AR
TR =  (B) 

Q

MR
AR =  

(C) 
Q

TR
MR

∆

∆
=  (D) QTRAR ×=  

7. iw.kZ izfr;ksfxrk esa QeZ ds lUrqyu dh fLFkfr gksrh gS] tc % 1 

(A) MC = MR (B) MC = TR 

(C) MC = TC (D) AC = AR 

Under condition of perfect competition the firm is in equilibrium, when : 

(A) MC = MR (B) MC = TR 

(C) MC = TC (D) AC = AR 
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8. iwfrZ oØ gksrk gS % 1 

(A) nkbZa vksj uhps dh vksj >qdk gqvk (B) OX-v{k ds lekukUrj  

(C) nkbZa vksj Åij dh vksj >qdk gqvk (D) OY-v{k ds lekukUrj 

Supply curve is : 

(A) slopes downward to the right (B) parallel to OX-axis  

(C) slopes upward to the right (D) parallel to OY-axis 

9. fuEu esa ls dkSu&lk lef"V rÙo ughaughaughaugha gS \ 1 

(A) lexz ek¡x (B) jk"Vªh; vk; 

(C) O;kikj pØ (D) miHkksDrk lUrqyu  

Which of the following is not a macroeconomic factor ? 

(A) Aggregate demand (B) National income 

(C) Trade cycles (D) Consumer equilibrium  

10. fuEufyf[kr esa ls dkSu&lh fof/k jk"Vªh; vk; dks ekius dh ughaughaughaugha  gS \ 1 

(A) vk; fof/k (B) vk;kr&fu;kZr fof/k 

(C) O;; fof/k (D) mRikn fof/k 

Which of the following is not a method of calculating national income ? 

(A) Income method (B) Import-Export method 

(C) Expenditure method (D) Product method 

11. dsUt dh fopkj/kkjk fdldh odkyr djrh gS \ 1 
(A) fefJr vFkZO;oLFkk dh (B) vFkZO;oLFkk ij ljdkjh fu;U=.k dh 
(C) eqDr vFkZO;oLFkk dh (D) mijksDr lHkh 
The Keynesian school of thought advocates : 

(A) Mixed economy 

(B) Government control on economy 

(C) Free economy 

(D) All of the above 



 ( 5 ) 5611/(Set : D) 

5611/(Set : D)/ II   P. T. O. 

12. ;fn lhekUr miHkksx izo`fÙk (MPC) = 1 gS] rks xq.kd gksxk % 1 
(A) 'kwU;  (B) ,d 
(C) vuUr  (D) nks 
If MPC = 1, multiplier will be : 

(A) Zero  (B) One 

(C) Infinity (D) Two 

13. izxfr'khy dj dk mís'; gksrk gS % 1 
(A) dj esa o`f) (B) R;kx dk leku c¡Vokjk 
(C) gkfuizn miHkksx ij izfrcU/k (D) buesa ls dksbZ ugha 
The objective of progressive taxation is : 
(A) Addition to taxes  

(B) Equitable distribution of sacrifice 
(C) Restriction on harmful consumption  

(D) None of these 

14. O;kikj 'ks"k gS % 1 
(A) oLrqvksa ds vk;kr vkSj fu;kZr esa vUrj (B) lsokvksa ds vk;kr vkSj fu;kZr esa vUrj 
(C) iw¡th ds vk;kr vkSj fu;kZr esa vUrj (D) buesa ls dksbZ ugha 
Balance of trade is : 

(A) Difference between import and export of goods  

(B) Difference between import and export of  service 

(C) Difference between import and export of capital 

(D) None of these 

mfpr 'kCnksa ls mfpr 'kCnksa ls mfpr 'kCnksa ls mfpr 'kCnksa ls fjDr LFkku Hkjsa %fjDr LFkku Hkjsa %fjDr LFkku Hkjsa %fjDr LFkku Hkjsa % 

Fill in the blanks with appropriate words : 

15. isIlh rFkk dksd …………. oLrqvksa ds mnkgj.k gSaA  ¼iwjd] LFkkukiUu½  1 

Pepsi and Coke are the examples of …………. goods. 

(complementary, substitute) 
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16. dher esa ifjorZu gksus ij ;fn oLrq dh ek¡x esa ifjorZu uk gks] rks ek¡x dks …………... dgrs gSaA  1 

¼iw.kZr;k ykspnkj] iw.kZr;k csykspnkj½ 

With change in price if demand for a commodity does not change, demand is 

said to be ………….. .   (perfectly elastic, perfectly inelastic) 

17. …………… dsoy nh?kZdky esa gh ykxw gksrs gSaA  ¼lk/ku ds izfrQy] iSekus ds izfrQy½ 1 

…………… is applicable only in long period. 

(Returns to a factor, Returns to scale) 

18. foØ; ykxrsa ……………. izfr;ksfxrk esa vf/kd egÙoiw.kZ gSaA       ¼,dkf/kdkjh] iw.kZ½  1 

Selling cost are more important in ……………. market.  

(monopolistic competition, perfect competition) 

19. lef"V vFkZ'kkL= ……………. vFkZO;oLFkk ls lEcfU/kr gSA   ¼O;fDrxr] lEiw.kZ½  1 

Macroeconomics is concerned with …………… economy. 

(an individual, the entire) 

20. cktkj dher ij ldy ?kjsyw mRikn (GDP) = 'kq) ?kjsyw mRikn + ……………..   1 

¼vizR;{k dj] f?klkoV½ 

GDP at market price = NDP at market price + ……………  . 

(Indirect taxes, Depreciation) 

21. ewY; dk eki] eqnzk dk ……………. dk;Z gSA  ¼izkFkfed] f}rh;d½  1 

Measure of value is the ……………. function of money. (primary, secondary) 

22. Hkkjr esa ,d #i;s dk uksV …………… }kjk tkjh fd;k tkrk gSA ¼fjtoZ cSad] dsUnz ljdkj½  1 

One rupee note in India is issued by ……………. .  

(Reserve Bank, Central Government) 

23. tc AS > AD gS] vFkZO;oLFkk esa oLrqvksa vkSj lsokvksa dh iwfrZ mudh ek¡x ls ……………. gksxhA 1 
¼vf/kd] de½ 

When AS > AD, then supply of goods and services in the economy tends to be 
……………. than their demand.    (more, less) 
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24. ;fn MPC = 0.8 gS] rks xq.kd gksxk …………… A (5, 4)  1 
If MPC = 0.8, the value of multiplier will be ……………. . (5, 4)  

25. ,d dj dk djk?kkr vkSj djkikr ,d gh O;fDr ij iM+s] rks mls ……………. dj dgrs gSaA 1 

¼izR;{k] vizR;{k½ 

A tax whose impact and incidence fall on the same person                                 

is called ……………. tax.    (direct, indirect) 

26. tc fu;kZr ewY; ls vk;kr ewY; de gksrk gS] rks O;kikj 'ks"k ……………. gksxkA ¼vuqdwy] izfrdwy½  1 

When value of imports is less than value of exports, the balance of trade will 

be ………….. .    (favourable, unfavourable) 

fuEufyf[kr dFku lghlghlghlgh gSa ;k xyrxyrxyrxyr] crkb, % 
State whether the following statements are true or false : 

27. ek¡x dk fu;e lkoZHkkSfed gS] ijUrq ;g Hkh dqN voLFkkvksa esa ykxw ugha gksrkA 1 

Law of demand is universal, however, it does not apply in some cases. 

28. ctV js[kk dks le mRikn js[kk Hkh dgrs gSaA  1 

Budget line is also known as iso-product line. 

29. iwfrZ rFkk LVkWd esa dksbZ ifjorZu ugha gksrk gSA 1 

There is no difference between supply and stock. 

30. vkSlr vk; oØ ek¡x oØ Hkh dgykrk gSA  1 

Average revenue curve is also known as demand curve. 

31. ftu oLrqvksa ds fofHkUu mi;ksx gksrs gSa] mudh ek¡x dh yksp ykspnkj gksrh gSA 1 

Elasticity of demand of goods having different uses is elastic. 

32. lk/ku ykxr ij GDP = lk/ku ykxr ij NDP – f?klkoV O;;A 1 

GDP at factor cost = NDP at factor cost – depreciation. 
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33. eqnzk esa dsoy djsUlh uksV 'kkfey fd, tkrs gSaA  1 

Money consists of currency notes only. 

34. ijEijkoknh jkstxkj fl)kUr ds vuqlkj cpr vk; dk Qyu gSA  1 

As per classical theory of employment, saving is a function of income. 

35. dsUt dk xq.kd] fuos'k xq.kd ds uke ls tkuk tkrk gSA 1 

Keynes multiplier is known as investment multiplier. 

36. dj ,d vfuok;Z Hkqxrku ugha gSA 1 

Tax is not a compulsory payment. 

37. O;kikj 'ks"k rFkk Hkqxrku 'ks"k esa vUrj ik;k tkrk gSA 1 

There is difference between balance of trade and balance of payments. 

38. ,d [kqyh vFkZO;oLFkk esa % AD = C + 1 + G + (X – M) 1 

In an open economy : AD = C + 1 + G + (X – M) 

39. ctV ljdkj ds ,d foÙkh; o"kZ dh okLrfod izkfIr;ksa vkSj [kpksZa dk dFku gSA 1 

Budget is a statement of government's actual receipts and expenditure in a 

financial year. 

40. iw¡thxr ykHk dks jk"Vªh; vk; esa 'kkfey ughaughaughaugha fd;k tkrk gSA 1 

Capital gain is not included in national income. 

S 


